Use the Distributive Property Name:

& Combine Like Terms

Simplify the Expressions Worksheet #7

1.) —(x=8) +7(4 + 3x)

2.) —4n(-2n-3) -2n(1 + 2n)

3.) 5(5x+ 7) +3(x+ 3)

4.) 3(n—2) -8n(5n-2)

5.) 2x(3x—3) +7(1 + 6x)

6.) =(8n—5) +3n(n-7)

/.) 6(6x+ 5) +8x(x— 5)

8.) -2(7/n+ 3) +7(n+ 1)

9.) 7x(—8x+ 1) +4(-2x— 3)

10.) —3(x+ 8) +2x(—4x+ 3)
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Use the Distributive Property Name:

& Combine Like Terms

simplify the Expressions Worksheet #7 Solutions
1.) —(x—8) +7(4 + 3x) 20x+ 36

2.) —4n(-2n-3) -2n(1 + 2n) 4n2 + 10n

3.) 5(5x+ 7) +3(x+ 3) 28x+ 44

4.) 3(n—2) -8n(5n-2) 19n— 6 — 40n2
5.) 2x(3x—3) +7(1 + 6x) 6x2 + 36x+ 7
6.) —=(8n—5) +3n(n—7) —29n+ 5 + 3n2
/.) 6(6x+ 5) +8x(x— 5) —4x+ 30 + 8x2
8.) —2(7n+ 3) +7(n+ 1) -/n+ 1

?.) 7x(—8x+ 1) +4(-2x— 3) —56%2 —x— 12
10.) —3(x+ 8) +2x(—4x+ 3) 3x— 24 — 8x2
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